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1] Choose the correct option (1x15=15)

bc a(b+c)
ca b(c+a)l=7?
ab c(a+b)

1 ; b)) -1 ;

3
w
1 = ? , where w is an imaginary cube root of unity.
®

a) 1 ; ; c)o ; d) 2

1 o o?
w w? 1|=?,where wis an imaginary cube root of unity.
0w 1 o

a) 1 b) 0 ; c)3 ; d) 2

x+y X X
5x+4y 4x 2x[=7?
10x +8y 8x 3x

a) x° 3 b) x* ;




a) 3xyz ;

—a* ab
. If [ab —b?
ac bc

ac
bc
—c?

= na’b*c? , then the value of pu

a) 1 ; b) 2 c) 3 ; d) 4

log, z
logy zZ| =7

log,y 1

log,xyz log,y
log, xyz 1

log, xyz

a) 1 ; b) -1

x+1
x+2
x+3

x+2
x+3
x+4

. If a,b,carein A.P.,then

c)2 ;

103 105
105 106|= ?
108 109

o ;

c)0o ; d) 2

a b ax+b

12. If| b c ax+c
ax+b bx+c 0

a) A.P. H b)

G.P. : c) H.P.

=0, then a,b,carein —

is

d) 4x*y%z?

?

None of these.




cosC cosB
—1 cosA|= ? ,where A, B & C are angles of a triangle .
cosA -1

b) 1 ; c)-1 ; d) None of these

1 1
Ifx+y+z=0,then |X Y
B3y

1
z

= 2

z

a) 2 b) 1 ; c)0o ; d) None of these

x—2 2x-—3 3x—4
15. if |x—4 2x—9 3x—16/=0,thenx=7?
x—8 2x—27 3x-—64

a) 1 ; b) 2 ; c) 3 ;
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